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JIO usersin Punjab & Assam

together = (18 + 18)% =36%

JI0 usersin UP and Goa together
=(25+15)%=40%

(40 —36) .

20 100

Desired percentage =

4
= — = 0,

Remaining number of JIO users in Haryana
_ 80 X 16 % 1,21,000

© 1007 100 T

=15,488

. . 18 4
JIO Users in Gujarat = 100 x 1,21,000 x 3= 29,040

Desired difference
U= 8 121000
To11 00" 77

3 2
=11 X 25 %X 1,21,000 = 2,640

Idea users in Assam

75x18x12100079900
1171007 T T

Let the three numbers be X, Y and Z.
X+Y+Z
3
Let X be the largest number
X=180=Y+Z =225
Y-Z=25
Y =125,
Z =100 (smallestnumber).

=135=2X+Y+Z =405

S=150%0of T
150T 3
:ﬁ:)S:ET
3 5T
SS+T=ST+T—=

2
=T =2(S+T)=40%of(S+T).

Let they invest money for x, y and z months
Then5x:6y:8z=5:3:1
11

t—i—=8:14:1
2°8

orx:yiz=1

Let the cost price of A’s house = Rs. x
. Costprice of E'shouse =1.1x1.15x1.25x1.35x x
~ 35008875=11x115x125x13bxx
35,00,887.5
T 11x115x1.25% 1.35

x = Rs.16,40,000.
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256X 8 +512:><8_
16 64 32x64
4)'=2+2=4
7=1

4y

17+13-25=4%of?

5 X 100=?
2 =?
?7=125

368+432=7%0f100+500
800—-500=7x1
?7=300

49 +51 — (10)*~7
100 = (10)*~?
102 = (10)*
3-7-2

=7=1

100
49x11+23x 27:?+44XT

539+621-1100=?
?7=60




Let the speed of train be x km/hr.
600

+ 4
x+5

Then,— =
X

5
= 600[x[x+ 5)] =4
=x(x+5)=750=25x30

= x = 25 km/hr

S.I for two years = Rs.200

S.Ifor oneyear=Rs.100

C.Ifortwo year=Rs.220

= Rs.20 is the interest on Rs.100
for one year.

If interest is Rs. 20, then amount
=Rs. 100

If interest is Rs.100, then Amount

=190 100 = Rs.500

T 20

The possible ways are as follows:
(i) 1 red ball outof the three and 5 blue balls out of the seven
(ii) 2 red balls outofthe three and 4 blue balls out of the seven

»~ Total number of ways in which a random sample of six balls can be d:

= 3Cy X165 + 20, X IC, = 1€8.

Total number of cases when two dice are thrown simultaneously = 6 x 6 = 36
Favourable number of cases of gettingasumof 6 =5 (1,5; 2,4; 3,3; 42; 51)

5
Hence, required probability = Y

Let the rational number be P
q
~g=p+3
. pt7
“p+3-2
=p=5

=2=p+7=2p+2
5
= Given rational number = 7

(Dx*—5x+4=0
x?—dx—x+4=0
x(x—4)—1(x—4)=0
(x—1Mx—4)=0
x=1,4

(@ y:+5y+6=0
yi4+3y+2y+6=0
yiy+3)+2(y+3)=0
r+2)ry+3)=0
y=-2,-3

x>y

()2x*—x—15=0
2x?—6x+5x—15=0
2x(x—3)+5(x—3)=0
(2x+5)(x—3)=0

(i) 3y*—23y+42=0
3y?—14y—9y +42=0
y(3y—14) —3(3y—14) =0
(y—3)@Ey—-14)=0

14

() x?—15x+54=0
x2—9x—6x+54=10
x(x—9)—6(x—9)=0
(x—6)(x—9)=0
x=6,9

(i) y*+ 15y —54=0
y2+18y —3y—54=0
y(y+18)—3(v+18)=0
(y+18)(y—3)=0
y=-18,3

xX=y

(x?+14x+40=0
x24+10x+4x+40=0
x(x+10) +4(x+ 10) =0
(x+4)(x+10)=0
x=—4,—10

(i) y2—5y—24=0
v:i—8y+3y—24=0
yy—-8)+3(y-8)=0
y+3)y-8)=0
y=-3,8

V=X

((Jx?—225=0
x? =225
x = 115

(i) x* +yv* =306
225+ y? =306
y%=306—225
yi=81

y=19

Y /) Y :

No relation can be established between x and y.
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“One of the main reasons behind the success of these
banks this quarter would be their direct backing by the
Government of India. People take solace in their
investments in public sector watching the bailout
packages being cashed out by governments all over the
world to save big business houses.”

‘Shot in the arm’ means something that has a sudden and
positive effect on something, providing encouragement
and new activity
This can be seen as a big boon in the days to come when
the current recessions ease and the economy gradually
comes back on the fast track.

This can be seen as a big boon in the days to come when
the current recessions ease and the economy gradually
comes back on the fast track.

Refer to first sentence of the paragraph.

The finance minister has assured Indian public about the
sound health of the Indian banks. This could also be
evident from the fact that there have been no mergers
and takeovers in Indian banking sector in a contrast to
world scenario where finance houses are looking for
mergers to cut costs on operations.

Turmoil means a state of great disturbance, confusion, or
uncertainty. So, Chaos is the word which is similar in
meaning to it.

Pulverization means to overwhelm or defeat utterly. So,
Fall is the word which is similar in meaning to it.
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Thrive means grow or develop well or vigorously. So,
Deteriorate is the word which is opposite in meaning to
it.

Mundane means lacking interest or excitement. So,
Extraordinary is the word which is opposite in meaning to
it.

The correct sequence is DEFACB.

The correct sequence is DEFACB.

The correct sequence is DEFACB.

The correct sequence is DEFACB.

The correct sequence is DEFACB.

‘set the tone’ fits the sentence appropriately as it conveys
the proper meaning of the sentence.

No correction required.

‘had to put up to’ fits the sentence appropriately as it
makes the sentence structure grammatically correct.
‘Emotions ran high’ fits the sentence appropriately and it
is an idiom which means to be in a state of excitement or
anger.

No correction required.

Replace with ‘set government property on fire’

Replace ‘line” with ‘lining’

No error

Replace ‘after’ with ‘at’

No error

Delete ‘to’

Replace ‘is” with ‘was’ as sentence starts in a past tense
ends in past tense.

Replace ‘against’ with ‘for’

Replace ‘where’” with ‘when’




